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1. ‘tSman’ F∂ IYm]m{XsØ krjvSn-®Xv Bcv ?
a) Fw.]n \mcm-b-W-]n≈  b) tkXp c) ]md-∏pdw d) s]cp-º-Shw {io[-c≥

2. ]\tbme -˛ k‘n-tbXv?
a) B-K-a-k‘n b) Zzn-X-z-k‘n c) BtZ-i-k‘n d) tem]-k‘n

3. ae-bm-f-Ønse BZ-ysØ alm-Im-hyw?
a) hoW-]qhv b) cma-N-{µ-hn-emkw   c) tIi-hobw d) Nn{X-tbmKw

4. tIcf {iol¿j≥ F∂-dn-b-s∏-Sp-∂-Xmcv?
a) D≈q¿ b ) h≈-tØmƒ c) sNdp-t»cn d) Ip©≥\º-ym¿

5. ‘N{µ-°m-c≥’ F∂ IYm-]m{Xw GXv IrXn-bn-te-XmWv ?
a) [¿Ω-cmP b ) am¿Øm-WvU-h¿Ω c) imcZ d) Cµp-teJ

6. ]ncn-s®-gp-XpI : ]q¥n-¶ƒ
a) ]q + Xn¶ƒ b ) ]qw + Xn¶ƒ  c) ]qhv + Xn¶ƒ d) ]qhmw + Xn¶ƒ

7. IS-¶-Y-bpsS DØcw F¥v ? “Xobn-en-´m¬ NS-]S \o‰n-en-´m¬ ImWn√”
a) Xe-apSn b ) ]∏Sw c) ISpIv d) D∏v

8. ]ncn-s®-gp-XpI : I∑Zw
a) I≥ + aZw b ) Iev + aZw c) I¬ + ΩZw d) Ch-sbm-∂p-a√

9. IS-¶Y : “AΩ sImep-∂-s\, a°ƒ Ipcp-∂s\”
a) \ne-hn-f°v b ) kqNn c) Ihpßv d) aWn

10.‘tIcf sS∂n-k¨’ F∂-dn-b-s∏-Sp-∂-Xmcv ?
a) h≈-tØmƒ b ) hb-em¿ cma-h¿Ω   c) kpIp-am¿ Ago-t°mSv d) sshtem-∏n≈n

11.  Find the opposite adding suffix ‘tidy’

a) intidy b) distidy c) Untidy d) mistidy

12.  Ultrasonic waves ________ able the bats to locate object

a) in b) dis c) en d) un

13. If dog bark, sparrow _________

a) scream b) talk c) twitter d) roar

14. Duck : Quack :: Hen ______

a) Roar b) neigh c) Chirp d) Clucks

15. The young one of a deer is called

a) foal b) fawn c) calf d) kid

16. The young one of a kangaroo is

a) joey b) cub c) foal d) calf

17. The umbrella is __________

a) your b) my c) yours d) them

18. The supervisor asked if _________ wanted a calculator

a) someones b) all one c) no ones d) any one

19. Find the correct spelled word :

a) collegeu b) collague c) collegue d) colleague

20. The correct spelt word is :

a) Dictionary b) Dictionery c) Dictionairy d) Dectionery

21. Which word is correctly spelt ?

a) Ensyclopaedia b) Ensyclopedia c) Encyclopaedia d)Ensaiciopedia

22. The wrongly spelt word is :

a) referring b) begining c) accepting d) stopping

23. Which of the following is correctly spelt

a) commence b) comence c) commense d) comensce

24. Find out the compound word :

a) Rainbow b) yesterday c) beautiful d) see

25. Which of the following is not a compound word ?

a) life time b) whatever c) forget d) play ground
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26.  ‘Holiday’ is an example of _______ word

a) Complex b) simple c) Compound d) compound-complex

27.  The study of languges _____ interesting

a) is b) are c) were d) has

28.  Use the correct tense of the verb :   the sun _____________ in the east

a) rises d) is raising c) have been rising d) is being raised

29. Choose the correct verb form : Physics ______ his main subject

a) will b) are c) is d) had

30.  Which is a pronoun ?

a) on b) But c) Each d) an

31. 2500 cq] 12% km[m-cW ]eni In´p∂ _m¶n¬ 3 h¿j-tØ°v \nt£-]n-®m¬ In´p∂ ]eni F{X?
a) 900 b) 750 c) 600 d) 950

32. 1000 cq] 10% km[m-cW ]eni \nc-°n¬ 5 h¿j-tØ°v \nt£-]n-®m¬ ]en-i-bn-\-Øn¬ e`n-°p∂ XpI-sb{X?
a) 600 b) 500 c) 480 d) 640

33. km[m-cW ]eni IW-°m-°p∂ Hcp _m¶n¬ cmap 1600 cq] \nt£-]n®p ]en-i-\n-c°v 41/2% Bbm¬
3h¿jw Ign™v cmap-hn\v BsI F¥v XpI In´pw ?

a) 216 b) 1384 c) 1816 d) 1815
34. Hcp a´-{Xn-tIm-W-Øns‚ c≠v hi-ßƒ Xp√-y-am-Wv. Hcp hiw 3 sk.ao Bbm¬ \ofw IqSnb hi-Øns‚

Afhv F{X ?
a) 3√2 b) 3√3 c) 6 d) 9

35. Xmsg X∂n-cn-°p-∂-h-bn¬ Hcp {XntIm-W-Øns‚ hi-ß-fpsS Af-hp-Iƒ BIm≥ km[-y-X-bn-√mØXv
GXv?

a) 3cm, 2cm, 4cm b) 1cm, 2cm, 3cm c) 3cm, 4cm, 5cm d) 3cm, 3cm, 3cm
36. Hcp ka-`p-P-{Xn-tIm-W-Øns‚ Hcp tIm-Wns‚ Afhv F{X Un{Kn-bmWv ?

a) 600 b) 900 c) 450 d) 300

37. Hcp ssk°nƒ N{Iw 10 {]mh-iyw Id-ßp-tºmƒ 32 ao‰¿ Zqcw k©-cn-°pw. F¶n¬ 4 In.ao Zqcw k©-cn-
°p- ∂-Xn\v F{X {]mh-iyw Id-ßWw ?

a) 125 b) 1250 c) 1000 d) 500
38.Hcp hrØ-Øns‚ Bcw 50% h¿≤n-∏n-®m¬ hnkvXo-¿Ww F{X iX-am\w h¿≤n°pw ?

a) 100% b) 125% c) 75% d) 50%
39. 10sk.ao Bc-ap≈ Hcp hrØØn¬ Dƒs°m-≈m≥ km[n-°p∂ G‰hpw henb ka-N-Xp-c-Øns‚
hnkvXo¿Ww = ˛̨ ˛-˛-˛-˛-˛-˛̨  N.-sk.ao

a) 100 b) 200 c) 25 d) 400
40. Hcp Zo¿L-N-Xp-c-Øns‚ hoXn \of-tØ-°mƒ 2 sk.ao Ipd-hm-Wv. AXns‚ Np‰-fhv 12 sk.ao B-sW-¶n¬

hnkvXo¿Ww F{X ?
a) 16 N.-sk.ao b ) 22 N.-sk.ao c) 6 N.-sk.ao d) 8 N.-sk.ao

41.Hcp NXp-c-Øns‚ \ofw hoXn-bpsS 2 aS-ßn-t\-°mƒ 25 sk.ao IpSp-X-em-Wv. \ofw 85 sk.ao Bbm¬ NXp-c-
 Øns‚ hnkvXo¿Ww F{X ?

a) 2324 b) 2505 c) 2550 d) 2540
42. Hcp ka-N-Xp-c-Øns‚ hnkvXo¿Ww 16 m2 hi-ß-fpsS a[-y-_n-µp-°ƒ tbmPn-∏n®p In´p-∂ ka-N-Xp-c-Øns‚

hnkvXo¿W-sa¥v ?
a) 8 b) 4 c) 48 d) 6

43.  FOUR s\ GNVQ Fs∂-gp-Xn-bm¬ TIME Fßs\ FgpXmw ?
a) SHLD b) SHLF c) UHON d) UHND

44.  A=1, B =2, C = 3 Bbm¬ ADICT s\ kwJ-ym-cq-]-Øn¬ Fßs\ FgpXmw ?
a) 149320 b) 14129 c) 14349 d) 14249

45.  69 ˛ 98 = 6998, 72 ˛ 48 = 7428, F¶n¬ 21 ˛ 65 = ˛̨ -˛-˛-˛-˛-˛̨ ?
a) 2165 b) 2615 c) 2156 d) 2651

46.  H‰-bm≥ GXv ?
a) hoW b) hb-en≥ c) HmS-°p-g¬ d) knØm¿

47. H‰-bms\ I≠p-]n-Sn-°pI ?
a) 144 b) 289 c) 312 d) 625

48. GXmWv Iq´-Øn¬ s]Sm-ØXv ?
a) ADG b) UWY c) GJM d) MPS

49. t{iWn ]q¿Øn-bm-°pI? J-12, L-14, N - 16, P-18 _________
a) R-22 b) R-19 c) Q - 20 d) R - 20

50. A,E,J,O ______, _____?
a) M,Q b) S,X c) T,Y, d) U,Z


